FIGURE 2-4A. REAR SUSPENSION ASSEMBLY. SEE LIST 2-4A. .

=3

Manual No. 1013165 - Issue Date 9/91
l 'S ELECTRIC
2-BA Effective Serial No. AB617-94975 thru




REAR SUSPENSION ASSEMBLY

FIGURE- PART UNITS
ITEM NUMBER PER DESCRIPTION
NUMBER ASM 1234
4A - NO # 1 REAR SUSPENSION ASSEMBLY
FOR ILLUSTRATION, SEE FIGURE 2-4A

-1 1010138 6 DIMPLED LOCKNUT, 3/8-16 UNC

- 3 1013207 2 BRAKE CABLE SUPPORT

- 4 1015583 12 URETHANE BUSHING

-5 1010974 2 REAR SPRING

- T 1012180 2 “U" BOLT

- 8 7569 4 REAR SPRING SHACKLE

-9 8755 6 BOLT, HEX, 3/8-16 UNC X 3-3/8"

-10 1012181 1 SHOCK MOUNT, LEFT HAND

-10 1012182 1 SHOCK MOUNT, RIGHT HAND

-1 720 4 LOCKWASHER, 7/16"

-12 8938 4 NUT, HEX, 7/16-14 UNC

-13 1010145 4 NUT, HEX, 3/8-24 UNC

-14 1011415 4 SHOCK ABSORBER CUSHION KIT

-15 1013164 1 SHOCK ABSORBER KIT

INCLUDES ITEMS 14(4) AND 15(2)
-16 1012303 6 STEEL BUSHING

CubCar }

Manual No. 1013165 - Issue Date 9/91

Effective Serial No. AB617-84975 thru

2-9A




